UGC NET 2022 MANIPURI

Topic:- GP_UGCNET_SET1_shift2_A

1)

The following table presents data about academic performance of students showing pass
percentage (%) and ratio of male to female among passed and failed students of six different
colleges A-F in a city. Based on the data in the table, answer the questions 1-5 :

College-wise Academic Performance of Students

College Pass percentage Rati'n of P\ilale to Fe::nale Ratio ufr Ma:le to Fe.f'nale in
in pass students fail students
A 40% 12:13 12:5
B 55% 5:3 11:14
C 70% 75 5:3
D 45% 4:1 T3
E 50% 2:1 1:2
F 37.50% 3:2 2:1

fremaanft 3 sEl + srerEiE wEvE 1 3 afave o B uE aEnel % Il S gl F e
graf] el F 6 (A-F) Sem-sAer Hieis F1 HiHg Falia 21 999 e 1 8 5 #1339
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A 40% 12:13 12:5
B 55% 5:3 11:14
C 70% 7:6 5:3
D 45% 4:1 7:3
E 50% 2:1 1:2
F 37.50% 3:2 2:1

If the number of students who have passed from B and C are equal, then what is the ratio
between the number of failed students from B and C, respectively?

afs B 3 C # 3901 g0 o il gen waH T, 99 w9 B 3t C 1 syl ol # e ey |7

[Question ID = 1558][Question Description = 101_00_General_11_SEPT22_Q01]

1. 13:23

13:23

[Option ID = 6229]
2. 23:13

23:13

[Option ID = 6230]
31121



11:21

[Option ID = 6231]
4. 21:11

21:11

[Option ID = 6232]

2
) The following table presents data about academic performance of students showing pass

percentage (%) and ratio of male to female among passed and failed students of six different
colleges A-F in a city. Based on the data in the table, answer the questions 1-5 :

College-wise Academic Performance of Students

College Pass percentage Rati‘n of ]E\fla;e to F‘e::rla.le Ratio u}r 1\..151‘1'3 to Fe;nale in
in pass students fail students
A 40% 12:13 12:6
B H55% 5:3 11:14
C 70% 75 5:3
D 45% 4:1 7:3
E 50% 2:1 1:2
F 37.50% 3:2 2:1

fremmaamlt § ol & sl vy w1 3wl gl o e d e & al o sl w5 s
reaeefi IRl & 6 (A-F) S®0-3Ae0 Shicial & s YEHE 21 99 56 1 § 5 1 I S

FIAS -9 BT F FFEHF T34

i <ol e Sefiof ferenfefat Ecuini ﬁmﬁhﬁ q
BE-BENHA 1 HIIE SE-TETHA! F1 T
A 40% 12:13 12:5
B 55% 5:3 11:14
C 70% 7:5 5:3
45% 4:1 7:3
E 50% 28 1:2
F 37.50% 3:2 2:1

If the ratio of students in B and C is 2:3, then what 1s the ratio between the number of males
who passed from B and the number of females who failed from C?

afz ‘B i ‘O H Bl # I 2:3 R, 7@ B H 3wl g it wen w00 el smed f e &
|1 S R 7
[Question ID = 1559][Question Description = 102_00_General_11_SEPT22_Q02]
1. 24
24

[Option ID = 6233]
. 1:2



1:2
[Option ID = 6234]
3. B5:2T
55:27

[Option ID = 6235]
4. 2755

27.55

[Option ID = 6236]

3)

The following table presents data about academic performance of students showing pass

percentage (%) and ratio of male to female among passed and failed students of six different
colleges A-F in a city. Based on the data in the table, answer the questions 1-5 :

College-wise Academic Performance of Students

College Pass percentage Rati‘m of ]E\fla;e to Fe::na.le Ratio n}r 1\fia11e to Fe.Trlale in
in pass students fail students
A 40% 12:13 12:56
B 55% 5:3 11:14
C T0% 75 5:3
D 45% 4:1 T:3
E 50% 24 1:2
F 37.50% 3:2 2:1

feraamft 4 @l & s ggeE 1 3l gfaee R 9 vd aEel & 3l i dgel # s
graeft B0 % 6 (A-F) 3©M-31e7 Fical &1 dAHs =i 21 uv9 9= 1 g 5 #5 3 Afeu

FIAA-T0 BT T HAGEHE T2

v S s S % S Ferie o
BE-SEIA] FH A BE-BETH F S
A 40% 12:13 12:5
B 55% 5:3 11:14
¢ 70% 7:5 5:3
45% 4:1 7:3
E 50% 2:1 1:2
F 37.50% 3:2 2:1

Find the ratio of number of male to female students in D?

D 8 B 3R FEnE f @ w1 s 5 i |

[Question ID = 1560][Question Description = 103_00_General_11_SEPT22_Q03]

1. 149:51
149:51

[Option ID = 6237]
2. 51:149




51:149

[Option ID = 6238]

.81

3:1
[Option ID = 6239]

4 1:3

1:3

[Option ID = 6240]

4)

The following tahle presents data about academic performance of students showing pass
percentage (%) and ratio of male to female among passed and failed students of six different
colleges A-F in a city. Based on the data in the table, answer the questions 1-5:

College-wise Academic Performance of Students

| - I Rati‘c:a of I\flale to Fm:nale Ratio u}r I‘E.fIa‘le to Fe_-male in
in pass students fail students
A 40% 12:13 12:5
B 55% 5:3 11:14
C 70% 75 5:3
D 45% 4:1 7:3
E 50% 2:1 1:2
F 37.50% 32 21

frermagmft d o & st yey #1 3dl gfawm o o @ aEe % 3l o sl w1 s
el I % 6 (A-F) SHem-3Ae Ficis &1 AiFs TSl 21 9 = 1 8 5 = 3w At

FIOTS—aN D1 1 AFEHF TEI

—— it s sl Bt PN R
FE-BEA F IFIIE IE-TETAT H T

A 40% 12:13 12:5

B 55% 5:3 11:14
¢ 70% 7:5 5:3
45% 4:1 T:3

50% 2:1 152
37.50% 3:2 2:1

What is the pass percentage of male students in College A?

yEIEeTed A | 36 S &1 ufaee #2327

[Question ID = 1561][Question Description = 104_00_General_11_SEPT22_Q04]
1 17%%

17% afasm

[Option ID = 6241]



2. 20%

20 yfgera

[Option ID = 6242]
3. 19%%

19 ufeqwm

[Option ID = 6243]

4. 20%%
20 wleare
[Option ID = 6244]

5 . . .
) The following table presents data about academic performance of students showing pass

percentage (%) and ratio of male to female among passed and failed students of six different
colleges A-F in a city. Based on the data in the table, answer the questions 1-5 :

College-wise Academic Performance of Students

College Pass percentage Rati‘n of P\ilale to Fm:nale Ratio ulr 1&6[;11113 to FBETI&].& in
in pass students fail students
A 40% 12:13 12:56
B 55% 5:3 11:14
G T0% 75 5:3
D 45% 4:1 T3
E 0% 2:1 1:2
F 37.50% 3:2 2:1

fFrerragmlt # oE % srEfE yavE # 3El gfow o o ud sEe % 3l o s # s
raefl 9Bl & 6 (A-F) S-S Shicial &1 AiHs YSEih o) 99 §ed 1 § 5 1 I S

FieAa-aN BE1 F1 FEHE T2

T - Sefiof ferenfefat & Ecuini fa‘mﬁhﬂ A
BE-BENA FH FJIE BE-TETHA! H T
A 40% 12:13 12:5
B 55% 5:3 11:14
C 70% 7:5 5:3
45% 4:1 7:3
E 50% 2:1 1:2
F 37.50% 3:2 2:1

If the number of male students who have passed from D and F are equal, then what is the
ratio of number of students in D and F respectively?

R D 3 F & vl 29 aret @l I Jen v owE # d e D s FoH el i den @ sEum
F1 27

[Question ID = 1562][Question Description = 105_00_General_11_SEPT22_QO05]



. 85

8:5

[Option ID = 6245]
2 38

3:8
[Option ID = 6246]

3. 83

8:3
[Option ID = 6247]

4. 58

5:8
[Option ID = 6248]

Topic:- GP_UGCNET_SET1_shift2_B

1) Match List I with List 11

List [
Activity/Area
(A) Team work
(B) Self belief and happiness
() Musical
(D) Application

List II

Intelligence Type
(I) Development of Intelligence Quotient
(II) Development of Emotional Quotient
(II1) Development of Spiritual Quotient
(IV) Multiple Intelligence

Choose the correct answer from the options given below:

T 1 & g 1 g @ oo $ifsg

-1

nfafafi/ém
(A angfe F1d [
(B) sreafavam s g
(©) =fiawa
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[Question ID = 1563][Question Description = 106_00_General_11_SEPT22_Q06]

" (A)-(D), (B)-(ID), (C)-(IV), (D)-(I1T)
(A)-(D), (B)-(1D), (C)-(IV), (D)-(111)

[Option ID = 6249]

2. (A)-(11D), (B)-(1D), (C)-(D). (D)-(IV)



(A)-(I1I), (B)-(1I), (C)-(I), (D)-(IV)

[Option ID = 6250]

3 (A)-(ID), (B)-(IID), (C)-(IV), (D)-(D)
(A)-(ID), (B)-(IID), (C)-(IV), (D)-(I)
[Option ID = 6251]

4 (A)-(D), (B)-(I1I), (C)-(IV), (D)-(1D)
(A)-(1), (B)-(11D), (C)-(IV), (D)-(11)

[Option ID = 6252]
2)  Which of the following types of evaluation is done during the teaching — learning process?

forgui-stftrm % ghm Fr=fafias @ 8 g yen =1 e e smar 27

[Question ID = 1564][Question Description = 107_00_General_11_SEPT22_Q07]

1. Summative
Hepfera
[Option ID = 6253]
2. Integrative

HATRTTTHR

[Option ID = 6254]
3. Formative

Fmomen=s

[Option ID = 6255]
4 Diagnostic

[Option ID = 6256]

3) Effectiveness of teaching depends on

foress it wurasierar fFa w Ffr =+t 27
[Question ID = 1565][Question Description = 108_00_General_11_SEPT22_Q08]
! Qualification of teacher

g it

[Option ID = 6257]
2. Handwriting of teacher

faregs it ot

[Option ID = 6258]
3. Personality of teacher

Torers =1 =ufrea

[Option ID = 6259]
4. Ability of teachers to explain the concept to the learners

ferenfigt 1 g £t srEm F== fi Sigw i g



[Option ID = 6260]

4) Which of the following is the “National Coordinator" of MOOCs for self-paced courses on
SWAYAM portal?

fr=fafiga 4 @ 19 =30 (SWAYAM) 9Pe @ w-fyifa nfd greesmd & e st s dl. (MOO0Cs)
& g BT 27

[Question ID = 1566][Question Description = 109_00_General_11_SEPT22_Q09]
1. AICTE

.38 H.A.5. (AICTE)
[Option ID = 6261]

2 uGe
7. 5H. (UGC)

[Option ID = 6262]

3. NPTEL
w.dtf S ud. (NPTEL)

[Option ID = 6263]

4 IGNOU
185 w.3 g, (IGNOU)
[Option ID = 6264]

5) Attitude of teacher in the classroom that impacts teaching pertains to which of the following
domains?

a1 e =1 s, S fe =1 wnifEe s 2, etefen e vwe-a3 g g9t 20

[Question ID = 1567][Question Description = 110_00_General_11_SEPT22_Q10]
. Cognitive

LERIEIREED

[Option ID = 6265]

2. Conative

Trameas

[Option ID = 6266]
3. Affective

HidcH=h

[Option ID = 6267]
4. Psychomotor

AT

[Option ID = 6268]

6) A measurement based on properties of time, like minutes of a radio conversation is identified
as

aua & e T s w39 e amateny & e e fafEe @n R



[Question ID = 1568][Question Description = 111_00_General_11_SEPT22_Q11]

' Timeframe

wreTafy

[Option ID = 6269]
2. Temporal unit

HITeTH TS

[Option ID = 6270]
3. Timeline unit

amferdr 18

[Option ID = 6271]
4. Durational unit

quATEF 3T

[Option ID = 6272]

7) The research approach of hermeneutics is concerned with
yrranedraraT w5 vty 3ur e gy 27
[Question ID = 1569][Question Description = 112_00_General_11_SEPT22_Q12]
1. Textuality
I3
[Option ID = 6273]
2. Evaluation
Hedr-
[Option ID = 6274]

3. Discourse

wife

[Option ID = 6275]
4 Interpretation

[EEEE]

[Option ID = 6276]

8)  Which of the following are similarities between qualitative and quantitative research?

(A) Data increase

(B) Answering research questions

(C) Relating data analysis to literature
(D) Variation

(E) Use of null hypotheses

Choose the correct answer from the options given below :



e 5 & e offt SREIeTE SHEYE F 99 § 71 gEEary £ 7

() =@Ifg

(B)  3HEYH EHT H1 W 4

(C) wfeeg @ 7w fagemo &1 vy wnfia w0
(D) ftads

(E) = 9fweaan &1 93

= fou mu fasedl 4 4 wE 3w = 5= Fifeu

[Question ID = 1570][Question Description = 113_00_General_11_SEPT22_Q13]
- (A), (B), (C) only

Fee

(A), (B) 3z (C)

[Option ID = 6277]

2. (B). (C), (D) only
e (B). (C) 3 (D)

[Option ID = 6278]
3. (0), (D), (E) only

Fa4 (), (D) 31 (E)

[Option ID = 6279]
4 (B, (D), (E) only

+aa (B). (D) =it (E)

[Option ID = 6280]

9)

Given below are two statements:

Statement [ : In content analysis, the researcher will code the text in terms of themes or

subjects.

Statement [1:  The categorisation of content is normally done according to the phenomena

of interest.

In the light of the above statements, choose the correct answer from the options given below

Hr=1 7t #ye fou o g

FaA 1 w=awg e 8 sngwal fawal sgen we % gy § U8 w6 F2-ag = |
FYA1L:  si=dawg 1 il grr=man wf A afeene & e f e
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[Question ID = 1571][Question Description = 114_00_General_11_SEPT22_Q14]
. Both Statement | and Statement 11 are true

Fuq [ s Il e g 2



[Option ID = 6281]
2. Both Statement [ and Statement II are false

Fo [ afit 11 21 a1eeg 2

[Option ID = 6282]
3. Statement [ is true but Statement 11 is false

FeA | a9 2, ot e 11 160 2
[Option ID = 6283]

4. Statement [ is false but Statement 1l is true
#eA | 3164 2, At FeA 11 99 2

[Option ID = 6284]

10) Identify the sequence of following steps in mail surveys

(A) constructing a questionnaire
(B) mail the questionnaire

(")  prepare a covering letter

(D) Monitor the return rate of maail
(E) Select a sample

Choose the correct answer from the options given below :
e 5 4 o () gagw & Fefafaa = & w5 = e

(A)  wwaTEed Fmio

(By  weamEet 1 =k | ftm s
(C) @3- = S=W EA

(D) 7 & At @ F A =
(B)  wsh wfeiest =1 =

i feu o ferpedl | | WEl I =FA HfA

[Question ID = 1572][Question Description = 115_00_General_11_SEPT22_Q15]
- (A), (O), (D), (B), (B)

(A), (), (D), (E), (B)
[Option ID = 6285]

2. (B). (D). (E), (C). (&)
(B). (D). (E). (C). (A)

[Option ID = 6286]
3 (D), (C), (A). (E), (B)

(D), (©), (A). (E), (B)

[Option ID = 6287]

4 (B), (A), (), (B), (D)
(E), (A), (C), (B), (D)



[Option ID = 6288]

") Which one of the following is important, in cross-cultural communication in a classroom?

foredt wen o w17 wTepfom gemm § F=fafaa 7 5 F60 @m gaca 27

[Question ID = 1573][Question Description = 116_00_General_11_SEPT22_Q16]
1. Self-approval propositions

TSI 7 AT

[Option ID = 6289]
2. Dignified humour

waffea ufam

[Option ID = 6290]
3. Diversionary tactics

feremait gfeat
[Option ID = 6291]
4. Use of strong language

FHE 919 FH ITEM

[Option ID = 6292]

12) Normally media supplied information is

gra: difen g smgd geE a2
[Question ID = 1574][Question Description = 117_00_General_11_SEPT22_Q17]
1. Specialised

[Option ID = 6293]

2. Prescriptive

HTEITTHF

[Option ID = 6294]
3. Descriptive

FuiHTHS

[Option ID = 6295]
4. Status-related

ufeafa @ w=fea

[Option ID = 6296]



13) Stereotyping is a/an of pre-judgement in communication

(A) Motivational dimension
(B) Emotional dimension
() Cognitive Weakness
(D) Generalisation

(E) Reflection of excellence

Choose the correct answer from the options given below :

waragm (i) s § @osmsea f ———— 7|
(A)  wfiproTeEE SEW

(B)  waewHh AW

(C)  AFFEEF FAAR

(D)  FE=E

(B)  3epwa =1 e

Hr= fw o et d & odt I == il

[Question ID = 1575][Question Description = 118_00_General_11_SEPT22_Q18]
- (A), (B). (C) only

Fad (A), (B) 31 (C)

[Option ID = 6297]
2. (B). (C). (D) only

Fad (B), (C) i1 (D)

[Option ID = 6298]
3-(0), (D), (E) only

Faa (0), (D) 31 (E)

[Option ID = 6299]
4 (A). (D). (E) only

Fad (A), (D) 31 (E)

[Option ID = 6300]

14)  Given below are two statements:
Statement [ : Lack of common understanding is a psychological barrier in
communication.
Statemet 11 : Inadequacy of language, devoid of experience, will lead to failure in
communication.

In the light of the above statements, choose the correct answer from the options given below



= 2 o 2y T E:

FUq 1 HHETST GOE R SUTE GO § Tk S AT R
FYA Ll : WA wr i sgiee gere § fwerar f s @ s |

IYUH FY4 F A |, 4 2 o fagedi 4 g g 3 9 999 fifew

[Question ID = 1576][Question Description = 119_00_General_11_SEPT22_Q19]
1. Both Statement | and Statement Il are true

FgA ] AR M 2q a9 2

[Option ID = 6301]
2. Both Statement | and Statement II are false

Fod 1 31 11 341 38 2

[Option ID = 6302]
3. Statement [ is true but Statement 11 is false

Fod | |9 2, A #9911 o5 2

[Option ID = 6303]
4. Statement [ is false but Statement 11 is true

Fo | 15 2, | 9 1 gex 2

[Option ID = 6304]

15 Match List I with List I1

List 1 List I1
Communication Term Subject source
(A) Appreciative mass (I) Psychology
(B) Collective representation (II) Sociology
(C) Frame of reference (III) Anthropology
(D) Stereotypes (IV) Political science

Choose the correct answer from the options given below:

et 1 & g 1 g = fuem fifsg

gHl-1 -1
T g o &
(A) FEIHR FH-HE () wEfEEE
(B) =i wfaffae (1) == e
() s dm (1) s
(D) ®e-w&q (fFer=) (IV) =it s
Ha fou o fepedt & & @t 3w #0199 A

[Question ID = 1577][Question Description = 120_00_General_11_SEPT22_Q20]



-

- (A1), (B)-(D), (C)-(II), (D)-1V)
(A)-(D), (B)-(ID), (C)-(I1D), (D)~(IV)

[Option ID = 6305]
2 (A)-(IID), (B)-(IV), (C)-(I), (D)-~(1I)

(A)-(I1D), (B)-(IV), (C)-(1), (D)-(1I)
[Option ID = 6306]

30 (A)-(IV), (B)-(1L1). (C)-(1T), (D)-(D)
(A)-(IV), (B)-(LL1), (C)-(1D), (D)-()

[Option ID = 6307]

4 (A)-(IT), (B)-(I1D), (C)-(D), (D)-(IV)

(A)-(II), (B)-(I1L). (C)-(I). (D)-(IV)
[Option ID = 6308]

16) In a certain coding scheme ‘TEACHER' is written as 'VGCEJGT. How the word
'CHILDREN' shall be written in that scheme?

v fifvem #Fido (wiféEn) wzfa # TEACHER %1 VGCEJGT fovar s 2 | st ugfa 4
‘CHILDREN' =1 ¥8 fown smam ?
[Question ID = 1578][Question Description = 121_00_General_11_SEPT22_Q21]
1. EJEKNFTGP

EJKNFTGP

[Option ID = 6309]
2 BJNKTFGP

EJNKTFGP

[Option ID = 6310]
3. ENJKFTPG

ENJKFTPG

[Option ID = 6311]
4 EJKNTFPG

EJKNTFPG

[Option ID = 6312]

17)  Certain number of birds are sitting on two trees A and B. If a bird from the tree B goes to the
tree A, then no. of birds on the two trees become equal. However, if a bird from tree A goes to
tree B, then the no. of birds on the tree B becomes twice that of A. How many birds are there
on the trees A and B, respectively?

uferi =i fifvaa gem 31 92l A 3 B =t 2 | 3ft v uefi Uz B ® 9 A W =0 90 8, o a1 gel
7t ufel ) Hen wE gaE A 9 8 | 9 9w uef Ug A § 93 B W wen 9w g, a9 Bt afe
& HEn A ° g @ St # ) A s B st woufeEi i gen s e 20

[Question ID = 1579][Question Description = 122_00_General_11_SEPT22_Q22]
1. 3.5



3,5

[Option ID = 6313]
2. 76

7.6

[Option ID = 6314]
3. 5.7

5,7

[Option ID = 6315]
4911

9.11
[Option ID = 6316]

18) The average age of a man and his son i1s 45 years. The ratio of their age is 2:1, respectively.
What is the age of the man and his son?

u =i ol 3o OF T ofted g 45 a4 2 | AR ST W U wEe: 2:1 2 | =i of 3w gm A
g F 27

[Question ID = 1580][Question Description = 123_00_General_11_SEPT22_Q23]
1. 60, 30

60, 30

[Option ID = 6317]
.70, 35

70, 35

[Option ID = 6318]
3. 62, 31

62, 31

[Option ID = 6319]
4. 56, 28

56, 28

[Option ID = 6320]

19) 1In a class the ratio of female students to the male students is 16:9. What percentage of the
class is female?

u Fen | wfeen i quy frenfl & sgum 16:9 # | wen o wfgenst @ wfowm =0 27

[Question ID = 1581][Question Description = 124_00_General_11_SEPT22_Q24]

1. 60%

60%

[Option ID = 6321]
2. 55%

55%

[Option ID = 6322]



3. 36%

36%

[Option ID = 6323]
4. 64%

64%

[Option ID = 6324]

20) A retailer marks all his goods at 50% above the cost price and thinking that he will still
make 25% profit, offers a discount of 25% on the marked price. What is the actual profit he
earns on his sales?

UF e fopral 37 A 59 W @ 4ed H 50% W e SfEd w2 S g7 g 3 s
ot 25% w9 7, 8 il gFa W 25% 7 () F vEE 2 g ¢ | 38 e il | e st
14 WTH &

[Question ID = 1582][Question Description = 125_00_General_11_SEPT22_Q25]

- 25%

25%

[Option ID = 6325]
2 12%

12%
[Option ID = 6326]
3. 12.50%

12.50%

[Option ID = 6327]
4. 15%

15%

[Option ID = 6328]

21) If the statement ‘some plants are carnivorous' is given as true, then which of the following

could be immediately inferred from it:

(A) *All plants are carnivorous’ is undetermined

(B) ‘All plants are carnivorous’ is true

() ‘Some plants are not carnivorous’ is undetermined
(D) ‘No plants are carnivorous’ is false

Choose the correct answer from the options given below :



afz woA- Fo 08 wewe & F A S w9 8 G a2 9@ sed Pefafee § @ e aenfos sea
Fqmita o = gt 27

(A) ot Y weweh &, sifuifa 2

(B) meft ) wimvef ¥, w2 )

(©)  ‘Fo T wavaf 768 T, i 2

0 I 1 R o B

9 ffu o e § & o 3w v fifen
[Question ID = 1583][Question Description = 126_00_General_11_SEPT22_Q26]
1. (B)s {[3) {D} On-ly
F4e (B), (C) 3 (D)

[Option ID = 6329]
2. (B) and (C) only

&Hae (B) 31 (C)

[Option ID = 6330]
3. (B) and (D) only

&Had (B) #1 (D)
[Option ID = 6331]
4. (A), (©), (D) only
Fae (A), (C) 3 (D)
[Option ID = 6332]

22) ‘Most people in our community think that movie ABZ is pornographic. Therefore movie ABZ
is legally pornographic’. Which of the following fallacy is committed in this argument?

AR wzE § sAftwis & g 2 5 gefaa () ABZ swele 2 ) afon, setm ABZ s w0 @
sgeftel & | 39 ok § FW °1 dh-am fEn m R

[Question ID = 1584][Question Description = 127_00_General_11_SEPT22_Q27]
- Red Herring

s g
[Option ID = 6333]
2. Ad Populem

U e

[Option ID = 6334]
3. Ad Bacullum

Ug dFen

[Option ID = 6335]
4. Ad Hominem

g Ffen

[Option ID = 6336]



23) Given below are two statements:

Statement [ : ‘No 8 is P’ is contrary to ‘All S is P,

Statemet 11 : ‘Some S is P' is contrary to 'No S is P'.

In the light of the above statements, choose the correct answer from the options given below

H=1 21 Fue 2o o E:

Foal:  FRAS PHE, @R S, PE F faulimedw 2
FAll: ‘FB S PE, WA S PAA R F vl # |

I FF F el 5, f9 Bo o e § 8 wd 3w % 999 it

[Question ID = 1585][Question Description = 128_00_General_11_SEPT22_Q28]
. Both Statement | and Statement 11 are true

Fuq [ SRl aH g 2

[Option ID = 6337]
2. Both Statement | and Statement II are false

Fo 1 3 11 21 76T 2

[Option ID = 6338]
3. Statement [ is true but Statement 11 is false

FuA | &9 2, S e 1] 379 7

[Option ID = 6339]
4. Statement I is false but Statement II is true
FuA | 379 2, o w9 11 5 7
[Option ID = 6340]
24) Which of the following steps of inference corresponds to application (upanaya) according to
Classical Indian Logicians?
FFerferehl Wt aehenfaral % sran frfefan # @ S99 @ sHEE SHwEr (I9a) % e 87

[Question ID = 1586][Question Description = 129_00_General_11_SEPT22_Q29]
- This hill has smoke which is invariably associated with fire

w0 gerdt 1 yen 2, S Prgee wu @ sfa A gag 2

[Option ID = 6341]
2. The hill has fire

39 UEE H 5 2 |

[Option ID = 6342]
3. Whatever has smoke has fire, e.g. an oven

o ot & oft yarf 2, 9 s 8, 59 % T

[Option ID = 6343]



4. Because it has smoke

iR, 30H 4377 2 |

[Option ID = 6344]

25)  Which of the following statements are true with reference to Nyaya view of logic?

(A) It does not separate deduction from induction

(B) It rejects verbalist view of logic and does not study the forms of thought alone
() The formal and material logie are blended in Indian Logic

(D) Verbal form is an integral part of the Inference.

Choose the correct answer from the options given below :

frferfigs 4 2 =9 o Fo aFems F 09 & gad 0 T 20

(A)  =® A 1 e | gue A8 e 2

(B) 92 ae smE & 9wl faewel & a9 F sedien Far 8 o Fad e F w9 @ ssme 18
HATE |

(C) YTt aehere | eftraiies ot Wifas aF &1 afmgn fea w2
(D)  wnfese =9 A &1 afhd o |

H fou o faeredi § @ G I F1 =@ Shifee

[Question ID = 1587][Question Description = 130_00_General_11_SEPT22_Q30]
1. (A), (B) and (D) only

%= (A), (B) 3t (D)

[Option ID = 6345]
2 (A), (0). (D) only

Fae (A), (C), (D)

[Option ID = 6346]

a9 (A), (B), (C)

[Option ID = 6347]
4 (A), (B), (C), (D) only

Fa (A), (B), (), (D)

[Option ID = 6348]

26) What is the sum of the binary (base 2) number (1100): and the hexadecimal (base 16)
number (3),,?

fpamamd (sm-2) F@&m (1100), 3 FFamefne (F9-16) wem (3), @1 4m =0 27

[Question ID = 1588][Question Description = 131_00_General_11_SEPT22_Q31]
T (P

(F)s



[Option ID = 6349]
2. (158) w
(15) s

[Option ID = 6350]
3. (1003) 10

(1003) 10

[Option ID = 6351]
4 (1103) s
(1103) 5

[Option ID = 6352]

2D Which initiative of Indian Government aims to provide IT connectivity to all 2,50,000 Gram

Panchayats in the Country?
T e 1 R uge @ w2va 2y i gt 2,50,000 o g9EEl FoemE. A, sF A vem e 27

[Question ID = 1589][Question Description = 132_00_General_11_SEPT22_Q32]
1. BharatNet

-

YA

[Option ID = 6353]
2. NICNET

AR q2

[Option ID = 6354]
3. MeghRaj (GI Cloud)

TS (71,218 Fse)

[Option ID = 6355]
4. e-Taal

i-am

[Option ID = 6356]

28) (onsider the URL : https://example.org/index.htm]l. Which of the following are contained in
the URL?
(A) Browser name
(B) File name
() Host name
(D) Email address
() Protocol
Choose the correct answer from the options given below :



7. 30U https://example.org/index.html = foar Fifsu | f=fafes § 3 f0 a g.9mw.

Fafae £ 7

(A) SIS FH A

(B) &IEw &1 9H

(C) #¥=H (Fr2) %1 AW

(D) e EE

(E)  SiEiie

= fou o famew 9 8 w6 s o 9 i

[Question ID = 1590][Question Description = 133_00_General_11_SEPT22_Q33]
- (A), (B) and (C) only

#Fad (A), (B) 3 (C)

[Option ID = 6357]
2. (A), (C) and (E) only

4 (A), (C) 3 (E)

[Option ID = 6358]
3 (B), (C) and (E) only

e (B), (C) 3 (E)

[Option ID = 6359]
4. (C), (D) and (E) only

Faa (), (D) 3 (E)

[Option ID = 6360]

29)

Identify the correct order of some of the words A-E given below to complete the following
paragraph which explains the role carried out by different parts of the CPU,

Part of the CPU that (i) holds programs and data currently in use is called
(ii) performs calculation and logical operations is called : and (iii) tells input and
output devices how to carry out instructions is called

(A) Control Unit

(B) ASCH

(C) Immediate Access Store
(D) ALU

(E) 85D

Choose the eorrect answer from the options given below :



= A-E 4 fu m 53 w=gi & o o8 ) ggam Fefafed Tors = @ w6 e S, s ddfa,
% fim-fum wril g Py 99 3ef g #1 aofa @ 2

didftg. w1 e, S () T99F § FEEE @ S F @A 8, 3§ ®al A o8 s (i) afEReE
(FegeioM) 3 Sfforha ATHIE %1 @ F a/ 90 F _ Fal @l 2 I (i) FIE v AEge
fearsy =i =@ 2 B agesi & 8 gen & s, Jwen um 1 S 2 |

(A)
(B)
(©)
(D)
(E)

Frar fou o fasedl 4 4 w1 s = == Fifsu

Fg gfe

U, uE L3783 (ASCID)
sfafsue v w2n
WO,

ez fci

[Question ID = 1591][Question Description = 134_00_General_11_SEPT22_Q34]
- (D), (A), (B)

(D). (A), (B)

[Option ID = 6361]

2. {C)! (D}' (A)
(©), (D). (A)

[Option ID = 6362]
3 (0), (B), (A)

(C), (E), (A)

[Option ID = 6363]

4 (B), (D), (E)

(B). (D), (E)

[Option ID = 6364]

30) Match List I with List IT

List 1
Information Technology Term
(A) Hyperlink
(B) Hotspot

(©) HTTP

(D) Pixel

ty

(11

(11D

(Iv)

List 11

Definition
An area of a graphic that when clicked
will eause an action on a web page
The smallest area that can be edited
on a graphic
An element on a web page that when

clicked on will take the user to another
website, web page or document

A protocol used to send and receive
web pages

Choose the correct answer from the options given below:



gt 1 % @9 11 g 1 faem fifso

-1 gefi-11
a1 drafie o aftama
(A) T o O ot ot = é9, a s +8 @
s o fE At 2 )
(B) @fewErie (I «gam &9, Gmw o ot w gl
o < T 2
(€C) vaAAM (111 frdt 39 o9 o e, 50 fFas s W
IRl &1 3 dedEe, d4 ue 4@
ZEATES T e S |
(D) fo=ae (IV) 99 95 494 3t Wi F4 & fom 3ggim fen
BN ICiEa G

Hi= fou o Fepeat d 9 o 3 @ =wa s
[Question ID = 1592][Question Description = 135_00_General_11_SEPT22_Q35]

" (A)-(IID), (B)-(IV), (C)-(D), (D)-(IT)
(A)-(1D), (B)-(IV), (C)-(D), (D)~(1D)

[Option ID = 6365]

2 (A)(D), (B)-(IV), (O)-(L1D), (D)~(11)
(A)-(D), (B)-(IV), (C)-(I11), (D)-(1T)

[Option ID = 6366]
3 (A1), (B)-(D), (C)-(IV), (D)-(ITD)

(A)-(1D), (B)-(D, (C)-(IV), (D)-(11D)

[Option ID = 6367]

4 (A)-(ID), (B)-(D), (O)-(IV), (D)-(1I)
(A)-(I1I), (B)-(D), (C)-(1V), (D)-(1I)

[Option ID = 6368]

31) Ambient noise levels on a site located in vicinity of a busy road are expected to be in the
range:

foreft = wrt & oy vy o ofEsh @ w1 smtia W anfi ?

[Question ID = 1593][Question Description = 136_00_General_11_SEPT22_Q36]
1. 35to 45 dB

35 & 45 e

[Option ID = 6369]
2. 50 to 60 dB

50 ¥ 60 =Hiew

[Option ID = 6370]
3. 75to 85 dB

75 9 85 =HEa



[Option ID = 6371]
4 110 to 120 dB

110 § 120 ==

[Option ID = 6372]

32) Given below are two statements:
Statement 1 : Ozone hole over the Antarctica was discovered in 1987
Statemet 11 : The Montreal Protocol envisaged 50% reduction in the use of CFCs, in the

developed countries by 1998 with reference to 1986 consumption levels.

In the light of the above statements, choose the correct answer from the options given below

H= 21 =9 fan o 2
99 1 : oA feog 1 vzrEhfea 7 1987 § @i 74 |
Fou 11 : af - 1986 % VAN & F 29 F N W Af@Te TerHe & s Hwf 2

o g H.uw.dl. % I9Em § 1998 7% S0 Wiaw oht Herdl @i THedan i 7S o |

I F99 & Hoirs |, A 20 fEedi § ¥ g8 3 o 95 Fife

[Question ID = 1594][Question Description = 137_00_General_11_SEPT22_Q37]
1. Both Statement | and Statement 11 are true

Fg [ sl aaiag 2

[Option ID = 6373]
2. Both Statement [ and Statement II are false

Fo [ ofit 11 21 a8 2

[Option ID = 6374]
3. Statement [ is true but Statement 11 is false

Fo | O 2, A wow [ s 2

[Option ID = 6375]
4. Statement I is false but Statement 11 is true

FoF | 316 2, a9 11 99 2

[Option ID = 6376]

33)  Which of the following statements about World's forests are correct?

(A) Forests act as a huge carbon sink.

(B) Most of the World’s forests are concentrated in the subtropical belt in the northern
and southern hemisphere,

(C) Forests are home to much of world’s biodiversity.

(D) Moisture released from forests also contributes to rainfall.

Choose the correct answer from the options given below :



frafeifas 4 @ 27 & = fava & 2= & 9§ 76 27

(A) =4 Toomet Fe sEviee () & 9 8 % &6 2 )

(B) Tava & sifamie 39 3@ sin afevh srgmend 8 su-somieadiy o § a5fza 2
(C) = fara f sfvwy -y Fwm )

(D) =4t & fdes et oft aef & e w2

Hr= o o feRedl & § @R 39 1 99 i

[Question ID = 1595][Question Description = 138_00_General_11_SEPT22_Q38]
1. (A) and (B) only

Fae (A) 3 (B)

[Option ID = 6377]
2. (B). (C) and (D) only

#ad (B), (C) 3t (D)

[Option ID = 6378]
3 (A). (C) and (D) only

Had (A), (C) 3t (D)

[Option ID = 6379]
4. (A), (B) and (C) only

#ad (A), (B) 3 (C)

[Option ID = 6380]

34)

Given below are two statements:

Statement [ : International Solar Alliance was formed in 2010
Statemet 11 : International Solar Alliance is a group of twenty leading countries of the

World involved in collaborative research for developing solar technologies.

In the light of the above statements, choose the most appropriate answer from the options
given below

9 21 e Ry

o 1 S=aEE A TaEyA 2010 ° nifed foear

oA 11 : FaUYE B TeaTA faga % 20 et 390 w1 A g, W1 5 A e F e A

AT FTHIH 7 Wi 2

IYF FYF & Al 1, A e e 1§ @ gad 3ugw I = fife

[Question ID = 1596][Question Description = 139_00_General_11_SEPT22_Q39]
. Both Statement | and Statement 11 are true



Fo 1 RIS T

[Option ID = 6381]
2. Both Statement I and Statement II are false

Foq 1 3 11 31 3787 2

[Option ID = 6382]
3. Statement [ is true but Statement 11 is false

Fud | | 2, A w9 11 o7y 2

[Option ID = 6383]
4. Statement I is false but Statement 11 is true

%99 | A9 2, oo A 11 99 2

[Option ID = 6384]

33) Given below are two statements: one is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A):  Large dams on rivers tend to reduce the fertility of land areas in the river
flood plain

Reasons (R) : Dams reduce the deposition of silt over land areas in the river flood plain.

In the light of the above statements, choose the most appropriate answer from the options
given below

H= 31 Fo fom U B v% fHEUR (Assertion A) F w1 F fofis 2 91 290 39%F FA0T (Reason R) &
E‘lﬁ;

Afirwem (A) afedi w favmer #+r Sy 395 TR & dgr 43 i 5@ gua e F= 39
F (R) : FfE=t 6t 9% * HeEt @91 § 919 Mg F J9E O FH F 2

I FYE % e |, Fi9 By mw frwed ¥ 3 vad 3ugw 3w 99 Sif

[Question ID = 1597][Question Description = 140_00_General_11_SEPT22_Q40]
1. Both (A) and (R) are correct and R is the correct explanation of A

(A) 31 (R) 21 &8t 2 3t (R). (A) i w8 = 2

[Option ID = 6385]
2. Both (A) and (R) are correct but R is NOT the correct explanation of A

(A) &7 (R) 31 g2 2, | (R), (A) #it @&t =ame 72 2

[Option ID = 6386]
3. (A) 18 correct but (R) is not correct

(A) TEt 2 < (R) wdt =81 2

[Option ID = 6387]

4. (A) is not correct but (R) is correct



(A) & 8 2 & (R) w2
[Option ID = 6388]

36) Which core universal values were identified by the Parliamentary Committee on Value

Education under Chairpersonship of Mr. S.B. Charan

(A)  Truth

(B) Righteous conduct
(C) Peace

(D) Love

(E) Non-violence

Choose the correct answer from the options given below :

#f wm. . = i sErgd F FAia geans e F 91 q gudE wfufa 3 G e e gwm f
ggaH i ft 7

A w3

(B)  wEmHl s
(C)  wrifa

(D) |

(B) =fEm

= fou o foereat ° 9 odl 3w 1 =994 Fifew

[Question ID = 1598][Question Description = 141_00_General_11_SEPT22_Q41]
1. (A), (B), (C), (D), (E) only

e (A), (B), (C), (D), (E)

[Option ID = 6389]
2. (A), (B),(C) only

e (A), (B), (C)

[Option ID = 6390]

3. (A), (B), (€), (D) only

+ (A), (B), (0), (D)

[Option ID = 6391]
4. (A), (B), (E) only

Fae (A). (B), (B)

[Option ID = 6392]



37)  @Given below are two statements:

Statement I : University Education Commission was established in the year (1952-53)
after independence.

Statemet 11 : National Knowledge Commission (NKC) was Constituted in 2005,

In the light of the above statements, choose the correct answer from the options given below

#= 71 =g feu mu 2
Fa9 1 : Al & =17 favataaras fren s i wame 1952-53 9 e off |
Fa 11 : A9 ATers e @i 2005 | 3 g3 A |

ITUF F9 F IeF 4, T o v fHed § o wd 39 = =mw Fifso

[Question ID = 1599][Question Description = 142_00_General_11_SEPT22_Q42]
1. Both Statement | and Statement Il are true

Fgl AR a2

[Option ID = 6393]
2. Both Statement | and Statement II are false

Fod 1 31 11 341 38 2

[Option ID = 6394]
3. Statement [ is true but Statement I is false

Fod | | 2, A #9911 59 2

[Option ID = 6395]
4. Statement [ is false but Statement 11 is true

FoH | 16 2, A 9 1 905 2

[Option ID = 6396]

38) (haraka is known for

i Tohae for 94 i 27

[Question ID = 1600][Question Description = 143_00_General_11_SEPT22_Q43]
1. Medical treatise

Hfewa feergn (smafdam uw)
[Option ID = 6397]
2. Jataka tales

HATeeh HYTd

[Option ID = 6398]
3. Dharmasutras

e

[Option ID = 6399]
4. Ashtadhyayi



AT

[Option ID = 6400]

39) National Board of Acereditation was established by :

T werrEE =1 ) s e g g oft ?

[Question ID = 1601][Question Description = 144_00_General_11_SEPT22_Q44]

. uGe
PEE(R:I8

[Option ID = 6401]

2 AICTE
s | i

[Option ID = 6402]
3 DEB

E R
[Option ID = 6403]
4. NAAC
uA.uu A,

[Option ID = 6404]

40) @iven below are two statements:

Statement 1 :

Statemet [1 :

DIKSHA, SWAYAM and SWAYAMPRABHA are existing e-learning
platforms.
National Education Policy 2020, has identified National Education
Technological Forum (NETF) also to conduct Pilot Studies for online
education

In the light of the above statements, choose the correct answer from the options given below

Fr=1 <1 e o o 2

ey, w9y A =ag - g fageE $-wln & wewd 2 )

g foen i, 2020 8 wfm fen dofeia v (WEATE) w1 osEeEe e
& o ot urenfier (urrer) srsms & & fou ofEa e 2

Fyd I

&4 11 :

IYUTH FYF % e °, 99 B e fasedi 9 9 gd 3w w wma fifs

[Question ID = 1602][Question Description = 145_00_General_11_SEPT22_Q45]
1. Both Statement | and Statement 11 are true

Fgl AR NS a9 2

[Option ID = 6405]

2. Both Statement [ and Statement II are false

Fo | afit 11 21 a8 2



[Option ID = 6406]
3. Statement [ is true but Statement I is false

FuH | | 2, Al #9911 370 2

[Option ID = 6407]
4. Statement I is false but Statement 11 is true

FoH | 16 2, a9 11 95 2

[Option ID = 6408]
Topic:- GP_UGCNET_SET1_shift2_C

1) Read the passage and answer questions from 46 to 50

To start, we must recall what made historical colonialism distinctive. Colonialism was a form
of economic and social organization dominated by major colonial powers such as Britain,
France, Spain, and later the United states. It is now usually regarded as historically closed,
ended by the decolonising movements of the later twentieth century, although in politics and
other areas, neocolonial forms of power live on. Now it is the continuity from the older
colonialism to a new form of colonialism — data colonialism. There were four key components
to historical colonialism: the appropriation of resources; the evolution of highly unequal
social and economic relations that secured resource appropriation, including slavery and
other forms of forced labour as well as unequal trading relations; a massively unequal global
distribution of the benefits of resource appropriation; and the spread of ideologies to make
sense of all this. For example, the reframing of colonial appropriation as the release of
natural resources, the government of inferior peoples, and the bringing of civilization to the
World. In deseribing the transformations underway today as data colonialism, we use the
term colonialism not because we are looking for a metaphor but because it captures major
structural phases within human history and specifically within capitalism. Colonialism has
not been the standard reading of what is changing in contemporary capitalism. Yet it is
becoming increasingly clear that capitalism’s current growth cannot be captured in terms of

ever-more ambitious business integration or the ever expanding exploitation of workers,

Fr=fefian s =t 7g 39T ¥39 = 46 § 50 7% F I A9 |

7H W H g TR e iR F Bren tftefie sufievems @ ades seen | sufrEwan snfde e
It wed 1 uh w5 91, o v e, w5, w9 s ar 0 enfen S siufEien afwEb e
@ | e wd % sfow e § SuaTER-fand g % w97 s Aman w tfaafis w9 9
ETH §FT 1 7, TEM TSI @0 aEl F Wit & F9-30HaEnE B 96 F | 97 e s wE
IufEeER @ ITFETERE % AU ®U-3a IUHEvER (39 SUHEIER) % dn w R 2| tfaefas
IfETER F AR W 92w 9 - #qEuE F A senfus s amfiE @ e wEd
sefeamrmm, frrd zraar it semd o9 & 39 w91 % sifafcr swemm s gay, goae G & e .
UF Al w0 W EaE Afaw Faw; it 59 mEes a1y wud Jrel FEnuwed 1 v e 9 )
serEmnd, g dEreEl i Fw e =9 A ity Tl B gals, fee | aen o
fara # wem @ f EET | ER Sa-3THETER % R § g9AW § 8 W s & ave & fom
“FufavET weg %1 9Am gafere 98 @ H=ifE w6 v w0 f a2, afew 78 ama s % e
it fa9m =9 & Gofiae F ftm goaers o w wiEm i 2 | uEEEE [ A # A feea
w2 o ol gofae d e afedr @ w2 e ofl, o afmim  d wm dm w2
gettare 1AM Sgig F1 Gig AT TEeER] SAEEEE aeEed A1 gfi % 59 Ted 5 W &
w1k o wifee & R S oEE |

Historically, colonialism was a form of



SufrasmEr tfaefas w0 @ g ua =9 917

[Question ID = 1603][Question Description = 146_00_General_11_SEPT22_Q46]
1. Difference between the rich and the poor

g 3 mia % fie et

[Option ID = 6409]
2. Political one-upmanship

Tt ufaeral (SAsm=fmT)

[Option ID = 6410]
3. Resource appropriation

gayE fataam
[Option ID = 6411]
4. Racial distinetion

Feeradl e
[Option ID = 6412]

2) Read the passage and answer questions from 46 to 50

To start, we must recall what made historical colonialism distinctive. Colonialism was a form
of economic and social organization dominated by major colonial powers such as Britain,
France, Spain, and later the United states. It is now usually regarded as historieally closed,
ended by the decolonising movements of the later twentieth century, although in politics and
other areas, neocolonial forms of power live on. Now it is the continuity from the older
colonialism to a new form of colonialism — data colonialism. There were four key components
to historical colonialism: the appropriation of resources; the evolution of highly unequal
social and economic relations that secured resource appropriation, including slavery and
other forms of forced lahour as well as unequal trading relations; a massively unequal global
distribution of the benefits of resource appropriation; and the spread of ideclogies to make
sense of all this. For example, the reframing of colonial appropriation as the release of
natural resources, the government of inferior peoples, and the bringing of civilization to the
World. In deseribing the transformations underway today as data colonialism, we use the
term colonialism not because we are looking for a metaphor but because it captures major
structural phases within human history and specifically within capitalism. Colonialism has
not been the standard reading of what is changing in contemporary capitalism. Yet it is
becoming increasingly clear that capitalism’s current growth cannot be eaptured in terms of
ever-more ambitious business integration or the ever expanding exploitation of workers,



fr=fafas s = 92 it uv= 5@ 46 9 50 9% F I3 A5

&1 W o g9 T #e1 9nfee fE Ree ofaafas sufEmer @ ves samn | safreseEe arfds i
it Ted 1 0F w9 91, o w e, B, T ol ar 7 e S fefake v o aaa
w1 | offeet ol % sifem we § utETER - e F e 98 3w Aman w ofdafis w9 8
g g A 2, Tl el ol o= gEl A uft & e-suafs e el § ) 1 3w et g
sqfEvEr @ wfEme % 9u sv-sa svfveEr (v whEwmEs) § @ w fdaa 2 ) el
fawEE F 9 wgE gew 9 - H@EuE & AfEEm; senfis s amfe @ e wEd
Sfermm, Fm Zraan it s %9 =9 ¥4 % SAfaith AEaH =HE Hay, gage G & e
F HAafw w0 U swaE AfTaw e o 59 mEe Ay wud el Eenumed w5 ovan wive 9 )
serEnd, g FEreEl w Few e # =9 A sty fafam i gatem, Fee | A amn o
foara & mara @@ i whem | g Tm-suREvEE % e 4 adae § @ @ swaeon F o fom
JufEETE W F1 gAm gafee T8 # w FbifE 6 UF w9 i aam 8, afcs 78 9He sfEm F e
s fadm =9 & Gofiae % ofim s = i yufes 2 | IufEeEr g 9 @ g e @
i o e d Frafisda w2 1 e fi, = ot wma i wm 2 &
geiiam 1 Tdum g9y F1 g9 il qeeamRe SqEEaE eeEen 31 90w A9 Ted B 9 %
s o ynifem 8 o = wan |

The new area of colonialism relates to

gufasmems 1 F & FRad deEa 27

[Question ID = 1604][Question Description = 147_00_General_11_SEPT22_Q47]
1. Political power

T TR o

[Option ID = 6413]
2. Human slavery

LIEE RG]

[Option ID = 6414]
3. Unequal trade
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3) Read the passage and answer questions from 46 to 50

To start. we must recall what made historieal colonialism distinetive. Colonialism was a form
of economic and social organization dominated by major colonial powers such as Britain,
France, Spain, and later the United states. It is now usually regarded as historically closed,
ended by the decolonising movements of the later twentieth century, although in politics and
other areas, neocolonial forms of power live on. Now it is the continuity from the older
calonialism to a new form of colonialism — data colonialism. There were four key components
to historical colonialism: the appropriation of resources; the evolution of highly unequal
social and economic relations that secured resource appropriation, including slavery and
other forms of forced labour as well as unequal trading relations; a massively unequal global
distribution of the benefits of resource appropriation; and the spread of ideologies to make
sense of all this. For example, the reframing of colonial appropriation as the release of
natural resources, the government of inferior peoples, and the bringing of civilization to the
World. In describing the transformations underway today as data colonialism, we use the
term colonialism not because we are looking for a metaphor but because it captures major
structural phases within human history and specifically within capitalism. Colonialism has
not been the standard reading of what is changing in contemporary capitalism. Yet it is
becoming increasingly clear that capitalism’s current growth cannot be captured in terms of

ever-more ambitious business integration or the ever expanding exploitation of workers,
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Exploiting natural resources
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Structural adjustments
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4) Read the passage and answer questions from 46 to 50

1.

To start, we must recall what made historical colonialism distinctive. Colonialism was a form
of economic and social organization dominated by major colonial powers such as Britain,
France, Spain, and later the United states. It is now usually regarded as historically closed,
ended by the decolonising movements of the later twentieth century, although in politics and
other areas, neocolonial forms of power live on. Now it is the continuity from the older
colonialism to a new form of colonialism — data colonialism. There were four key components
to historical colonialism: the appropriation of resources; the evolution of highly unequal
social and economic relations that secured resource appropriation, including slavery and
other forms of forced labour as well as unequal trading relations; a massively unequal global
distribution of the benefits of resource appropriation: and the spread of ideologies to make
sense of all this. For example, the reframing of colonial appropriation as the release of
natural resources, the government of inferior peoples, and the bringing of civilization to the
World. In describing the transformations underway today as data colonialism, we use the
term colonialism not because we are looking for a metaphor but because it captures major
structural phases within human history and speeifically within capitalism. Colonialism has
not been the standard reading of what is changing in contemporary capitalism. Yet it is
becoming increasingly clear that capitalism’s current growth cannot be captured in terms of

ever-more ambitious business integration or the ever expanding exploitation of workers.
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Read the passage and answer questions from 46 to 50

To start, we must recall what made historical colonialism distinctive. Colonialism was a form
of economic and social organization dominated by major colonial powers such as Britain,
France, Spain, and later the United states. It is now usually regarded as historically closed,
ended by the decolonising movements of the later twentieth century, although in politics and
other areas, neocolonial forms of power live on. Now it is the continuity from the older
colonialism to a new form of colonialism — data colonialism. There were four key components
to historical colonialism: the appropriation of resources; the evolution of highly unequal
social and economic relations that secured resource appropriation, including slavery and
other forms of forced labour as well as unequal trading relations; a massively unequal global
distribution of the benefits of resource appropriation; and the spread of ideologies to make
sense of all this. For example, the reframing of colonial appropriation as the release of
natural resources, the government of inferior peoples, and the bringing of civilization to the
World. In describing the transformations underway today as data colonialism, we use the
term colonialism not because we are looking for a metaphor but because it captures major
structural phases within human history and speeifically within capitalism. Colonialism has
not been the standard reading of what is changing in contemporary capitalism. Yet it is
becoming increasingly clear that capitalism’s current growth cannot be captured in terms of
ever-more ambitious business integration or the ever expanding exploitation of workers.
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3+ The new form of capitalism
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4. Benefits of resource appropriation
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[Option ID = 5885]
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[Option ID = 5889]
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[Question ID = 1474][Question Description = 172_35_Manipuri_SEPT22_Q72]
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3. (A)-IV.(B)-IL (C)- L (D)- I

[Option ID = 5895]
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[Question ID = 1475][Question Description = 173_35_Manipuri_SEPT22_Q73]
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[Question ID = 1476][Question Description = 174_35_Manipuri_SEPT22_Q74]
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[Question ID = 1477][Question Description = 175_35_Manipuri_SEPT22_Q75]
1. (A)-IL (B)- IIL (C)- L (D)- IV

[Option ID = 5905]
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[Question ID = 1478][Question Description = 176_35_Manipuri_SEPT22_Q76]
1. B-A-D-C

[Option ID = 5909]
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[Option ID = 5910]
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[Option ID = 5911]
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[Option ID = 5912]
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[Question ID = 1479][Question Description = 177_35_Manipuri_SEPT22_Q77]
1. ABCD

[Option ID = 5913]
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[Option ID = 5914]
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[Option ID = 5915]
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[Question ID = 1480][Question Description = 178_35_Manipuri_SEPT22_Q78]
1. B-D-A-C

[Option ID = 5917]
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[Option ID = 5918]
3. C-A-D-B

[Option ID = 5919]
4. D-C-B-A

[Option ID = 5920]
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[Question ID = 1482][Question Description = 180_35_Manipuri_SEPT22_Q80]
1. D-B-C-A

[Option ID = 5925]
2. A.C-D-B
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[Question ID = 1483][Question Description = 181_35_Manipuri_SEPT22_Q81]
1. D-A-C-B

[Option ID = 5929]
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[Option ID = 5931]
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[Option ID = 5933]
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[Question ID = 1485][Question Description = 183_35_Manipuri_SEPT22_Q83]
1. ABDC

[Option ID = 5937]
2. D-C-A-B

[Option ID = 5938]
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4. B-D-C-A

[Option ID = 5940]
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